=

'
o

o

ses
71&o.

4

z7*

-
—

=
T

TR

<z %'Z_’u of3r—
(5. 8.(2) =7V / HI=E : 2025. 5. 7.(%)
FZHY)7}

=3

- =FAK

1
do=7E AN

°
w

BT Atg
A=,

| =
22

)

: 2025. 5. 7.(%) 11:00 O]
o

2l

°

=D\
=

[©)

HEAH
321

=

=

o]

=

P

PN
T

o "27d7HA]

Q) ==a%=

o

ol x| Zh2| Al 'l

Fol Wa glo] AAs} oje WA

Ho

HiEo] glof

Y

Fal,

s

&o| 24 °]%

8

My BEESAMH| 206599 /km & MHEIHIEL 37.3U/kmE 18% XX

, AL ] A



<A

EAt vs CIEEAL H| >

T2 (AL =L (B) 36% (YZH|) 1,107 /km HIZ) 2
CI™GX} | (AAh) M2EQ1 (28) 16% (PFH|) 3,548-/km (HIZE) 2AI7tA OJNHX]

o oleg FHoz AA -ﬁ‘-_{\_oaﬂi]- AL

TR ] °o]& o=

5:%%} Azt &-8-3tl

M= 2649 €2 (37629
A s SlE

AT 25%

43 UM x

o)A Aats] '35\
ANEH, AA ==
A}

* AR : (25) 267Y$3.8EH) — (30) 51.3A$(43T ) — (35) 264.1H$(37.6Z=H)
- 592 18d 99 £49AE A Hx geseigon], va-dE
FHAUG T2 AW £BS AMAEE § A48T F2 Folnh
O ol A5 AHS 2 eadAte] 22 AA4Y Fus x7] 383E
Al FadA 29 it Do VeH AR 7S vhbsls As
SRR F3dn
o WA, ¥ 1.2MW, H1P&E 150km/h(BA&= 165km/h), 13 FH

1
2 F2A7EA 18402 s

Fg72 600km o4Fe] S A
(27D, FA59 B QA AES AN AF wAolA A LRI

w5, @A £ o MAR wAol Fa FA20 A AFAN 5
FagA ATAE THAL FRANBAL PA LGs] £A AHe)
s AL AFa



I
N R o
oju < M Y clzla NWM
T o Tw FIFIS (Wi
o o o szl | H
=~ v o A 535 Ok
-— ‘A.._ o|lo|o
o N XE ~ o el
B B S o
AN CS G | 70 | N0 '
o T M R
. ity [
mOo ) m _0l
AT O yTo = Z0M
e 32
N X Rl
M A UU_ z 50
0 ~ &R IF Kl K [ —
oo gy Ry a o Fed
=r _.E fo]LaS w | U0 ..%Eo
o ® 4R =
X oo T B = =
T o MRS 0l
I ol = =z Ko
N oS 2
0 N A = Do " ﬁwr_ m._..._
i LR~
S G a |
HT ,i - o ﬂﬁ
P D Maw -~
P Swmw z i
W ow 'R oA ok =o I L
ook w G w 1
O © e =k’




Xl &5 R&D" At I

2] 600km O]t

A

.
o

ES =
s =

= 150km/h, 13|

A
al=

1.2MW, =

=5
=

L=
=

b

A

F

=
o

f

X

*

24 /&

271

%g. ~

25.4

1 (Z1Z/H18)

=
T

Fol Al

S

3

A

[ (AMELE) Bl %

Nio

%0
K-
oF
o
EK

N

B

o

30
0K

oK

o
ofo
<0
_6T

4

=
Ife}

O (FEIHA) 33 - 0z

A 510|H(F),
F/HELESE

71S% 2l

.I

rd
o
&

S RREE)
(VVVF)




SAQK £ Al JIHED
O olHx] v HzZh) C-AMT CiH| ofqX] =& 28 0|4
& FAASHAA 36%, 7t<EH HA7IH 16%, 71713 21%
2 $£4 1,1079/km, TjA 35489 /km
W 24 P33 714 4,0008/kg, CIMSX SEH| T7HED) 3,548%/km 7|1
O (BtAZE A3) EtA HiE M ZE(zero) Mt HEXHE

O 3 YAAA MFS FAEAE A2 BT

- B A X)(PM10, PM25) 724E/d 7=

2 ¥EA(CO, NO,, SO, VOC, NH;) 9,320%/d 7+

=
=
O (@l=ah g B MAHM Hu| MK U SX|Hs ST

4 ) AA H AL A, d7), A, FA)
206.521¢] /km = AA3} 6L 37.32)9/km
» MAHY Bof X245 HR A7 67.5HIAAmE HE B s

_/Ik_
(] (FAMEfAH =) 4 BUI|E| MAMEfA == X2

]_
O (MAAE HFH) HA =285 g2 859 88 oY
q 9

O 254 26.749% — 304

150.0

100.0
518
50.0 26.7 | 1
00 W - B N .

20254 20304 20354

m7Y mOMAIOF m7|E mEN



